H & 0l & AHS B Ml A

SA: DED
M DEHH N
ool Hsus SEXE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ME=N; 31,157,558 27,183,972 4,003,586
= 4,790,850
[ 947,000
Il 386,000
< 5,133,106
Al 19,900,602
nSHF Ho 28,693,758 24,986,272 3,707,486
= 4,790,850
s 947,000
Il 386,000
= 4,783,106
Al 17,786,802
Hsus SgA& 21,569,242 17,271,514 4,297,728
= 4,785,000
s 947,000
Il 386,000
= 2,089,206
Al 13,362,036
S5 RoldE BxS 3,700,000 3,700,000
307 el2to| & 3,700,000 3,700,000
QB 2=gHEXS 3,700,000 3,700,000
SFEH Rt a2 3,700,000
AMUHHA THE XA 1,100,000 800,000 300,000
307 21201 & 1,100,000 800,000 300,000
00 2FSHEXS 1,100,000 800,000 300,000
AUHHA THE X 1,100,000
AL A THERIR(EX) 2,837,883 2,387,587 450,2%
= 851,365
Al 1,986,518
307 elztol & 2,837,883 2,387,587 450,2%6
= 851,365
Al 1,986,518
QB 2=gHEXS 2,837,883 2,387,587 450,2%
AUHHA THE XA 2,610,603
=S 783,181
Al 1,827,422
AUHA CHEIXE X1 227,280
< 68,184
Al 159,096
= a2y 1,400,000 1,400,000
307 elztol & 1,400,000 1,400,000
09 2+ AHAELS 1,400,000 1,400,000
His=ol - HXted &84 1,400,000




SA: DED
. NSHE A
&el: tsus SEXE (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
-Hloled A2y 700,000
Hied 2dEaFy 700,000
S 2B (EX) 680,000 724,700 AN44,700
[ 204,000
= 142,800
Al 333,200
307 el2tol & 680,000 724,700 A44,700
= 204,000
& 142,800
Al 333,200
09 2s-AE2LS 680,000 724,700 A44,700
gAed 242 680,000
= 204,000
[ 142,800
Al 333,200
AUEA REss a2 550,000 560,000
307 elztol & 550,000 560,000
09 2s-gAHAELES 550,000 550,000
ANUHA R2ES A2 550,000
HIHA 2 61,000 58,000 3,000
307 gl2to| & 61,000 58,000 3,000
0 2=EHEXS 61,000 58,000 3,000
HEHA 0] 2™ 61,000
MNattHA 2 1,041,000 552,000 489,000
= 520,500
Al 520,500
307 glztol & 1,041,000 562,000 489,000
= 520,500
Al 520,500
09 2+ AELES 1,041,000 562,000 489,000
MNaHA 2 1,041,000
= 520,500
Al 520,500
ALHHA SSXIA &4 1,666,667 3,600,000 1,933,333
[ 500,000
Al 1,166,667
401 AIEHIZ SR 0HYI 1,666,667 3,600,000 1,933,333
= 500,000
Al 1,166,667
01 Al&H| 1,666,667 3,600,000 1,933,333
AUHA SSRDX 24 1,666,667
= 500,000
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2A:

S
M DEHH N
el Hsns S8 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SASIFY EXIMY 170,000 0 170,000
= 51,000
Al 119,000
401 AlZHIZ S 0HbI 170,000 0 170,000
= 51,000
Al 119,000
01 A28l 170,000 0 170,000
SASEFE XA 170,000
s 51,000
Al 119,000
St Al 2ENA(EX) 78,285 78,285 0
& 23,485
Al 54,800
307 elztol & 78,285 78,285 0
= 23,485
Al 54,800
B 2=gHEXS 78,285 78,285 0
SHCEA 2EXE 78,285
S 23,485
Al 54,800
SASHIZ2CIANAE 2R 3,113 3,950 A837
308 AHXIHMSO0IA 3,113 3,950 AB37
13 S [2S0He 4 A AS A 3,113 3,950 AB37
EA2dE22CAAY 29 3,113
CAE NS22(S3E YAl NEA) 186,000 100,000 86,000
= 93,000
< 9,300
Al 83,700
307 212+01& 186,000 100,000 86,000
= 93,000
=S 9,300
Al 83,700
0 2FSHEXS 186,000 100,000 86,000
S5E Al XI3AAS 186,000
[ 93,000
= 9,300
Al 83,700
EIAl A= RHALE 76,000 0 76,000
307 @I2t01 & 76,000 76,000
00 2=HAHEXS 76,000 76,000
BIAl 2Rt 2AXIR (RHA)
19,000, 0002 =4CH 76,000
Al LHEHIXE X2 18,000 18,000 0




FA WS
M DEHH N
el Hsns S8 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 5,400
Al 12,600
307 lztol & 18,000 18,000 0
= 5,400
Al 12,600
09 2+ AHAELS 18,000 18,000 0
EiAl CHEIXE X3 18,000
= 5,400
Al 12,600
BIAl 2R BAXIA(ER) 52,000 65,000 13,000
= 15,600
Al 36,400
307 212+01& 52,000 65,000 213,000
= 16,600
Al 36,400
09 2+AE2LS 52,000 65,000 13,000
EAZA 2o K12 13,000, 000 =4CH 52,000
= 15,600
Al 36,400
SHAHESEHEHA 2SEXE 55,631 54,280 1,351
307 @120l & 55,631 54,280 1,351
09 2FHHEXS 55,631 54,280 1,351
SN EHEEA SE2E X2 55,631
Sguss+H 29 862,878 682,269 180,609
307 lztol & 862,878 682,269 180,609
05 21t = 862,878 682,269 180,609
HISHEAl 22
724146002 *3CH*3652 111,909
SgnELd 0122 X8
2,31421%1,6002 x 122 44,429
SELNSH(ZHAZSHA) 2 706,540
Sgnssg 2H(ExX) 76,520 94,000 A17,480
& 68,456
Al 8,064
307 glztol & 76,520 94,000 A17,480
= 68,456
Al 8,064
05 212t =S 76,520 94,000 A17,480
SEusst 28N
5,000, 0002 = 13CH 65,000
=S 65,000
283 MM EHI 11,520
= 3,456




2A:

=
M DSHI N
el Hsns S8 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| Al 8,064
SgEusSsH &Y 92,000 0 92,000
= 46,000
& 13,800
Al 32,200
405 Kot S| 92,000 0 92,000
= 46,000
& 13,800
Al 32,200
01 XML =ZFSHI 92,000 0 92,000
Sgusst & 46,000,000 *2CH 92,000
= 46,000
= 13,800
Al 32,200
SABAT AHIA Sa 4,000 4,000
301 LPBNEZ 4,000 4,000
14 J|EI2 &3 4,000 4,000
A LT K&
2,000,000 *2H 4,000
CAE NSRY(SSE Al XA ) (KHA) 5,400 5,400
201 B2 AL| 5,400 5,400
01 AtR2elt] 5,400 5,400
SIINSHEIH AIAE AIEZ 5,400
EIAl 2 AEIZA 21,000 0 21,000
& 6,300
Al 14,700
207 AR Y| 21,000 0 21,000
& 6,300
Al 14,700
01 A= 9H| 21,000 0 21,000
NI5XE &HAl B AEH ZALES 21,000
T 6,300
Al 14,700
BOIEHAl 228HE MEAIS 33,000 0 33,000
= 9,900
Al 23,100
307 212+01 A 33,000 0 33,000
& 9,900
Al 23,100
09 2+HEXZ 33,000 0 33,000
EIOIEIAl 2 Xt2te 220 A HE ALY 33,000
& 9,900
Al 23,100
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SA: DED
. NSHME A
el WSAlEE 2l (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 5,000 5,000 0
HAS2E 2 5,000
02 S3=gl 112,000 112,000 0
HASHE M= 12,000
HAsHE RAE 80,000
BANs3E B2 10,000
HASTEIEH B 10,000
401 AlZHIZ S 0HbI 290,000 334,000 244,000
01 Al&H| 290,000 334,000 A\44,000
HASKEXE X 10,000
HASZEY SHEA 10,000
HAsZE Ad 90,000
= HAsZE 2= 40,000
HASZE d3)| €X 50,000
HAsSHE 4 222AK% £3 90,000
WSO A ZIE AL 118,000 0 118,000
== 35,400
Al 82,600
401 Al HIZL S 0HYI 118,000 0 118,000
< 35,400
Al 82,600
01 Al&H| 118,000 0 118,000
WSAD 0l WSS EX 118,000
= 35,400
Al 82,600
WSAHD MY SHEA S AIQE HE ALY 50,000 0 50,000
=S 25,000
Al 25,000
401 AIEHIZ SR OHYI 50,000 0 50,000
< 25,000
Al 25,000
01 Al&HI 50,000 0 50,000
WEAMD 0lg SHHEA S AE HH A 50,000
== 25,000
Al 25,000
o 2 ASAR SXAIE 40,000 0 40,000
= 40,000
401 Al HIZL 201 40,000 0 40,000
= 40,000
01 AlZ2H| 40,000 0 40,000
WA 0l NSS! EX 40,000
== 40,000




SA: DED
. NSHME A
el FHExd o 2 (Gt H2)
SA - B BRA(SH) - HRA - of v G o HIDE2
gxd & 2el 5,510,000 5,435,000 75,000
= 2,540,000
Al 2,970,000
SEFIE 2d 2 2e 480,000 2,485,000 22,005,000
201 fer23| 70,000 55,000 15,000
01 AtR2t2|HI 70,000 50,000 20,000
AIOER SAI=XHE 22X SR 70,000
401 Al HIZ R 0HbI 410,000 2,430,000 /2,020,000
01 AlZ28| 410,000 2,430,000 /2,020,000
2EA SSFNYE c2AIE & Hi=2 FH 30,000
=TS (HROHHE 7)) SSFIHE FHl 70,000
S4tolfH A2 ZEFIHE &4 60,000
U&EsE SSE(LAl) =X =4 250,000
sHs sg=XE =4 200,000 0 200,000
== 100,000
Al 100,000
401 AIEHIZ SR 0HYI 200,000 0 200,000
[ 100,000
Al 100,000
01 Al&H| 200,000 0 200,000
SHS SY=XER x4 200,000
= 100,000
Al 100,000
SR SEFHY &4 1,000,000 0 1,000,000
= 500,000
Al 500,000
401 Al HIZ R 0HbI 1,000,000 0 1,000,000
== 500,000
Al 500,000
01 Al&HI 1,000,000 0 1,000,000
SR ST =4 1,000,000
< 500,000
Al 500,000
228 ZEFIE TH(HEAY) 600,000 0 600,000
= 300,000
Al 300,000
401 AlEHIKL =] 600,000 0 600,000
=S 300,000
Al 300,000
01 AlZ28| 600,000 0 600,000
AE2S SYFIE &4 600,000
< 300,000




FA WS
M DEHH N
el FHExd o 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 300,000
LHE2S SSFXE 4 (HetAtd) 600,000 600,000
== 350,000
Al 250,000
401 Al HIZL S 0HYI 600,000 600,000
< 360,000
Al 250,000
01 Al&H| 600,000 600,000
Ue2s s3+a &4 600,000
= 350,000
Al 250,000
stzsstu o2 g &4 1,800,000 1,800,000
=S 1,000,000
Al 800,000
401 AIEHIZ SR OHYI 1,800,000 1,800,000
< 1,000,000
Al 800,000
01 Al&HI 1,800,000 1,800,000
SH=Sst 212 SE=xE &4 1,800,000
= 1,000,000
Al 800,000
HHIS SEFNE T (HEAY) 80,000 80,000
= 40,000
Al 40,000
401 Al HIZ S OHbI 80,000 80,000
s 40,000
Al 40,000
01 Al&HI 80,000 80,000
SH3E = =4 80,000
[ 40,000
Al 40,000
UHE24E SE=XE L (HEAY) 500,000 500,000
= 250,000
Al 250,000
401 Al HIY S CHYI 500,000 500,000
S 250,000
Al 250,000
01 AlZ2H| 500,000 500,000
Hd24E SEF=1E =4 500,000
== 250,000
Al 250,000
SlE1e| NESEE MM (HZEIIS) 250,000 250,000
401 Al HIZL 01| 250,000 250,000




SA: DED
. NSHME A
el FHExd o 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 250,000 0 250,000
ol el WEEE MNEAI(H=ZII3) 250,000
C2EHIMG EF 844,200 463,000 381,200
< 350,000
Al 494,200
ADREEZ oY EH 844,200 463,000 381,200
& 350,000
Al 494,200
02lol B+ &4l 173,000 13,000 160,000
201 er23| 13,000 13,000 0
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